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ENGLISH VERSION

Instructions : (1) All questions are compulsory.
(2) Marks are indicated on right side.
(3) Students are permitted to bring and use pocket
calculator.

1 (@) Explain the following terms in context with decision 10
theory :
Expected Monetary Value (EMV)
Expected Opportunity Loss (EOL)
Expected Value under Perfect Information (EVPI)
Hurwicz criterion.

(b) The cost price of a commodity is Rs. 7 per unit and its 10
selling price is Rs. 10. The commodity can be returned
at Rs. 5 if it remains unsold during a day. The probability
distribution of its demand is as follows :

Demand of theunits | 0 1 2 3 4
Probability 0.15(10201025]1035]0.05

How many units of the commodity should be kept daily
for getting maximum profit ? Also find the maximum profit.
OR
1 (@) What is operations research ? State its characteristics 10
and its limitations.

(b) Explain : 10
(1) Principle of Dominance.
(2) 2xn and mx2 Game.

2 (@) Explain the following terms in context with game theory : 10
Two-person zero-sum game,
Maximin and Minimax principle,
Saddle point, strategy.

() Solve the following game by using principle of dominance: 10

Player — B
IR/l

I|-4 6 3
Player—A 11| -3 -3 4
a2 -3 4

OR
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(b)

(b)

What is inventory ? State its advantages and 10
disadvantages.

Explain ABC and VED analysis. 10

What is linear programming ? Discuss its application 10
in various fields.

Write dual problem of the following primal problem : 5

Maximize the objective function z=4x+5x,
subject to the following constraints :

3x1+2.)C2 <20

4xl_3X2 >10
xl+x2 =5
xl,X2 >0

OR

3  Maximize the objective function z=10x +6x, +4x; 15

(b)

(b)

Subject to the following constraints :
x|+ Xy +x3 <100
10x) +4x,5 +5x3 <600
2x) +2x,5 +06x3 <300
xj>0/=12,3

Explain the graphical method to determine the optimum 8
solution of the linear programming problem.

State assumptions and limitations of linear programming. 7
OR
State characteristics and advantages of PERT. 8

-3

State the points of difference between PERT and CPM.
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